X = H ¥ (1 HB)
Eablicii] 7:00 <<BAmAxRE>> 8:30~
EHEES 7:30 1. AXRE (7Foo¥9—)
HEEES 7:30 2. &REBE ZHEEILEHRERER)
= (TRt 8:00 3. BELOIESLIUBRHKES
EHXEEE 8:00 UIMEEHER)
EIERNBERT 8:15 4. FHER (REFBRXEHRE
Bts = 8:30 5. AX&EE (7FHoy—)
r G 18 AR 18:00
D35 =
bR BELE | w | BEER | gL HBExT
1 9:00 E:] 3000mSC R 6 8:40
2 9:30 % 1500m R 33 28R A LL—RRES 9:10
: 3 o vhop 1-24H 9:30
3 9:50 o)) 1500m R 66(1) AR A L — R RS 3438 9:50
4 10:30 iakes 4 X 100mR Bid 16 240255 +4 10:10
5 10:40 ek 4 x 100mR E3 16 24H275+4 10:20
6 10:50 E:] 4 X 100mR ¥ 14 2%4H2755+4 10:30
7 11:00 h% 400m E3 10 24H275+4 10:40
, 1-3%#8  10:50
8 11:10 hE 400m % 26 43E155+4 2481100
9 11:25 £ 400m Bid 11 240255 +4 11:05
10 11:35 E:] 400m E3 21 3%H175+5 11:15
, 1-248  11:35
11 11:55 2| 1500m % 59 44E355+4 3448 1155
1-3#8  12:25
12 12:45 % 100m ¥ 67 8#HA A LL—R8 4-648 12:40
7-8%8 12550
1-3%#8  13:00
. _ 4-6%8 1315
13 13:20 =] 100m % 89 114524 LL—28 o8 13:25
10-11#8  13:35
14 14:05 %= 100m 3 13 2% 25E +4 13:45
1-3%#  13:55
15 14:15 2| 100m % 74(1) 9fRS A LL—R8 4-6%8 1410
7-9%8  14:20
16 14:55 =k ~g 400m R 14:35
17 15:00 h B 400m R 14:40
18 15:05 Z 400m R 14:45
19 15:10 E:] 400m R 14:50
20 15:15 g 100m R 14:55
21 15:20 h B 100m R 15:00
22 15:25 'S 100m * 15:05
23 15:30 E:] 100m R 15:10
24 15:40 E°8 1500m *® 14 15:20
25 15:50 E:] 1500m R 15:30
26 16:00 Iz 4 X 100mR * 5 15:40
27 16:05 INB 4 X 100mR R 5 15:45
28 16:10] /MEZ&| EH4x100mR R 4 15:50
29 16:15 & 4 X 100mR P 15:55
30 16:20 HhE 4 x 100mR R 16:00
31 16:25 £ 4 X 100mR R 8 16:05
32 16:30 £ 4 X 100mR R 16:10
— EREE
RbiBELE | - | HEEH BERET
B R g | MR s FR | Otat— B %l
1 9:00 E:] 7E = Bk R 12 8:40
2 13:00 GE] Eo Bk R 21 12:30
1 11:30 B& Bk R 10, 5(1) 10:30
1 9:00 % E Bk R 32 8:20
2 12:00 s =Bk R 16 11:40
3 14:30 5 = Ex Bk R 6 14:10
C TRk
1 9:00 | faiiR(2.721ke) R 14(1) 8:30
1 9:00 % | faH#%(4.000kg) R 5 8:30
2 11:00 5| %Y$(0.800ke) P 21(1) 10:30
3 13:00 B faH%(5.000kg) R 22 12:30
4 15:00 x|/ —#%(4.000kg)| R 5 14:30
4 1500 B3|/ \vY—1%(6.000kg)| R 10 14:30




